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Section A: 80 marks (2 marks each)

ia) Write the number in word.

53:
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1b) Write the word in number..

Eighty - six :

2)  Cross out the bigger number-.

() GO

3) Count the number of sna:ls and write down the answer in the
~ box prowded |
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There are ’ _snﬂils. : I
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4) = Tick the set that has the greater n'_u_mb‘er" of seashells.
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) Write down the numbers in order. Begin with the largest number.

i

- -

Lar‘gesrf‘ ‘_ : Stallest )
6) —___is the number just after 78,
7)  43isbetween = — and 44,
8)  The number that 's 20 less than52is ____ .,

D 2-39s .
10) i, __is 2 tens less FHAN 62 + 7.

11) 80is +—— ——_Mmore than 6 tens 9 ones.
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Use_the numbers velow to dn'swer Questions 12 to 14.

12) The greatest number is . . _more than the smallest -

K

number.

13) The humber that is greater than 99 but smaller than 70 is

14) The number that is 11 less than the greatest number is

A Fa
L 7

Look at the sentences below and answer Questions 15 and -16.
Jane has 26 stickers. Mary has 60 stickers. .

15) Maryhas_, .~ more stickers than Jane.

16) If Mary gives Jane 12 stickers, how many stickers does each of
them have now?

e _=-;‘

(a) Number of stickers Jane has:

(b) Number of stickers Mary has:

10




Use the diagram below to answer Questions 17 and 18,
17)  Circle the suns in groups of tens. :

A !
) Q&Q ”Pv Q/ D\VQ

18) (a) Cross out 3 suns./

(b) Thereare_ . “suns left how,

19)  Study the number pattern below.

Two numbers are missing on the moons.
Fill in the missing numbers.

e

20) Complete the number bond below.

(] (0]




" 2D)Fill in'the nunibers "9, "7, *3" and *1" i theboxes "
provided, Use each numbe. once only.

Lemomen

Look at the diagram_and answer estion 22(a) and 22(b)

Iohi;}éﬁs_. Each O stands

for 1 unit, /

22(a) The mass of 1 lollipop is

units.

- 22(b) The mass.of the cake is

. % _ units more than
the mass of 1 lollipop. ©o-

23) Circle the 20 toy cars e

qually into 4 groups . How many toy cars are
- there in each group?

There are “ toy cars in each group. 5
)
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Look at the picfu're. delow and answer Questions 24 and 25.

\

. 24) Circle the sailing boat which comes in'second.

P

25) Sailing boat A is in the - :u},‘_‘; position.

| 26) Complete the number bond and the picture shown below.
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Look at the pic‘rur'e. below and answer Question 27.

27) If another person is added in between Rose and Kim, circle the 6™
person from the left,

2/



. Look at the cii'aqi*qm ﬂbélov‘v andansw ILQ@s-ffons 28 and 29

BN

Each <> stands for 1 unit.
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28) StickAis .

units fong.

29) If e _c__Unifs are cut of f from Stick B, it will be as
-~ long as- Stick C. | o -

Look at the diagram bejow and answer Questions 30 to 32,

o 1 0
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30) There are

- circles.

31) There are

v triangles an! rectangles altogether.

32) Thereare By more rectangles than squares .

7




33) Let * represents a number.

If * X 4 = 28, what number does *
iff represents

34) Mrs Lee has 18 pears.
She wants to put them in groups of 2.

represenf?

-+7.__

35
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o Study fhe picture below cdrefulfy cmd 6nswer Quésﬁoné 36 and 37.

A{tf?

Sfuffed doll C"C‘YOHS

ice cream

_/

-

36) Lynn needs —~.___¢tobuy 2 ice cream,

37) Joy wants to buy a ball and a box of crayons but she has only $10.

She needs $

- Mmore 1o pay for both items. -

38) Sally is going to the park. She leaves her house at haif past 5.

(@) Circle the clock that shows half past 5.




The picture graph below shows the number of goldfish 5 children
“have. Study the graph carefully and answer Questions 39 and 40.

| PTG DR | AR W | BB R 4 9B
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Mohan Ali ~ Raju Peter Jinfa

Each #® stands for | goldfish

39) Mohanhas goldfish.
40) Raju and Ali will have the same number of goldfish if Raju gives

| . _of his goldfish to Al

A
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Section B: 20 marks (4 merks each)
Read the story sums and do them carefully. Show your workings
clearly.

41) What number do you cet when you subtract 14 ones from

3 tens 12 ones?

The number is

TN

~

42) Faﬁrﬁcjzhlhas 3 buﬁchés of f.Iowers. There are 5 ﬂower*g in each -

bunch. How many flowers are there in 3 bunches?

There are . ‘_WL flowers in 3 bunches.

11 8
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43) Thomas has 25 merbles. He has 6 fewer marbles than Peter.

How many marbles do they have altogether?

They have marbles altogether.

[od - /’3\

44) Lester climbed 15 steps up the stairs. He dropped his wailet and
he walked down 6 steps to pick it up. Then he climbed 7 steps to

‘get to his classroom. How many sTeps high was his classroom?

His classroom was

R §Teps high.

12
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45) ‘Angie sold 7 boxes of chicke
each box.

(6)  How many chicken pies did she sel] altogether?

She sold

chicken pies altogether.

&)

If each chicken pie cost $2, how much would Angie have to

pay for 2 boxes of chicken pies?

Angie would have to pay $__ ~«__ for 2 boxes of
chicken pies. :

*** END OF PAPER **

I am checking my work!
What about you?

13

h pies. There were 5 chicken pies in -



-RED SWASTIKA PRIMARY SCHOO, - PRIMARY 1 MATHEMATICS 2006
SEMESTRAL ASSESSMENT (2)

1. a)fifty-th;
2. 71
3. 25

b)50¢, 104, 10¢

25.third
26.5

27 .Sue
28.6
29.4
30.9
31.7
32.2 —-—-—end-—-



